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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 475 59.26| Zh L4t |0.00 ~ 4.75| 1.88 10.08 s 1.00f 500 ~ 5.23 59.26 #hLl4t | 500 ~ 523| 1.88 10.08
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{ 0.00 ~ 6.80 85.98| #nLlst |0.00 ~ 6.80| 1.84 9.83 s 1.00f 500 ~ 8.43 85.98| Tl | 500 ~ 8.43| 1.84 9.83
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
s 1.00{0.00 ~ 7.74 99.41| ZhLlst |0.00 ~ 7.74| 2.27 12.13 s 1.00f 5.00 ~ 10.55 9941 Zhl4+ | 5.00 ~ 1055 2.27 12.13
4 100kN/m##8 %% 1.00{ 0.00 ~ 0.52 107.71| 3m%x#B 25 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.84 ~ 12.29 107.71| 3m%x#B 25 =l ~ - - =
s 1.00{0.52 ~ 8.30 100.00f Z=hki4t |0.00 ~ 8.30| 2.32 12.40 s 1.00f 5.00 ~ 10.84 100.00f Zhl4t | 5.00 ~ 1229 2.32 12.40
5 100kN/m##8 %% 1.00{ 0.00 ~ 0.23 103.38| 3m%x#B2x 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.71 ~ 11.36 103.38| 3m%x#B 25 =l ~ - - =
s 1.00]0.23 ~ 8.01 100.00f Z=hkl4t+ |0.00 ~ 8.01] 2.10 11.23 s 1.00f 500 ~ 10.71 100.00f Zhl4t | 5.00 ~ 11.36f 2.10 11.23
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 745 95.16) ZhLlst |0.00 ~ 7.45| 1.72 9.20 s 1.00f 500 ~ 9.77 95.16) Zhl4t | 5.00 ~ 9.77| 1.72 9.20
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.45 81.14| ZhLlst |0.00 ~ 6.45| 1.80 9.64 st 1.00f 500 ~ 7.66 81.14| =nklst | 500 ~ 7.66| 1.80 9.64
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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